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                                                                Math XII                                             

1. If A and B are two matrices such that A+B and AB are both defined, then 

(a)A and B are the two matrices not necessarily of same order 

(b) A and B are square matrices  of same order 

(c)Number of columns of A = number of rows of B 

(d)None of these 

 

2. If the value of a third order determinant is 11, then the value of the square of the determinant formed by the 

co-factors will be 

(a)11 

(b)121 

(c)1331 

(d)14641 
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(a) 1   (b) e  (c) e-1  (d) 3 
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5. A solution of the differential equation 
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(a) Y=2   (b) y=2x   

(c) Y=2x-4  (d) y=
22x -4  

6. The probability that at least one of the events A and B occurs is 0.7 and they occur simultaneously with 

probability 0.2 Then ( ) ( )P A P B+ = 
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 (a) 1.8   (b)0.6  (c)1.1  (d) 1.4 

7. 3 mangoes and 3 apples are in a box. If 2 fruits are chosen at random, the probability that one is a mango 

and the other is an apple is  

 (a) 
3

5
   (b) 

5

6
   (c) 

1

36
   (d) none of these 

8. 
2

1
log 1 1, ______________

2 1
dx A x C for x Then A
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+ +
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 (a) -1   (b) 1   (c) 2   (d) -2 

9. The value of the integral 
1

11

1
sin x dx is

−∫  

 (a) 
10 8 6 4 2

. . . .
11 9 7 5 3

    (b) 
10 8 6 4 2

. . . . .
11 9 7 5 3 2

π
 

 (c) 1      (d) 0. 

10. The order of [ ]xyz

a h g x

h b f y is

g f c z

   
   
   
      

 

 (a) 3 1×   (b) 1 1×    (c) 1 3×   (d) 3 3×   
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Answar key 

1.(b)   2.   (b)     3.   (a)    4.    (c)    5.     (c)  

6.(c)   7.   (a)     8.   (a)    9.    (d)    10.   (b) 
 

 


